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. #] ¥ #8(CeH1206 = 180 g/mol)4& K 1t » R BB A & CeHiz06 + 60, — 6CO; + 6H,0 » #3451k 540 g

CeH1206 > Bl & 4 CO; @4 g/mol) % » g? (10%)

- RBFRAARBENERBOHS - ZBBFHEARA L | 2atm> BEA2C > EXET

ERAAEOCH > MRRALRE N (atm)?  (10%)

C RTAARTRET AR EEREN

PbO; (5)+ 504 o +4H' + 26 ——> PbSOs 5 +2H0 E°=1.685V

PbSOs sy + 26 —» Pb + SO0s7% E°=-0356V

(@) RHMEELRET %1% - BEBZFRBALERBA S AR H TR TREZEETH
B

(b) EXRAEZEREFRAREKRE TR To SO EAE S 4.0 M RE L AGH T -
Tty R 4o f7 7 (%77 © #] A Nernst equation)  (10%)

- REFZ BT CRBRTHREITAEY £ 4 THU—REHSORBEALE S S A4

BHRAARAZLETGPO RSV EFei PbO B AIRE % 0 % H 04 PbSO, 4k 9 o (10%)

. BREETH R F AR T AR M R P ey R

I + ocr ct 4+ 1057

H R & 42 A MRS & rate =k [I]™ [OCI'] *[OH] P

£ 25SCHRRBR BRSO R AT

T i [l {OCI'], [OH], A7 3R B (MUs)

| 2.00 x 107 2.00 x 107 1.00 2.42 x 10
2 2.00 x 107 4.00 x 107 1.00 4.84 x 10
3 4.00 x 10° 2.00 % 10° 1.00 4.84 x 10
4 2.00 x 107 2.00 x 107 0.50 4.84 x 10*

AERERBRRERA - (LBAME mn,pE)  (10%)
. NaOH & ¥[OH]=3.0 x 10* M » F 3% 89 pH? (10%)
. How many grams of potassium dichromate (K,Cr,07 = 294 g/mol) are required to prepare a 500 mlL
solution whose concentration is 1.5 M? (10%)
. What is the original molarity of a solution of formic acid (HCOOH, K, = 1.7 x 10*) whose pHis 4.0 at
equilibrium?  (10%)
. Calculate the standard enthalpy of formation of acetylene (C,Hy) from its elements
2C (graphite) + H,(g) E— CH, (g)
The equations for each step and the corresponding enthalpy changes are:
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(a) C (graphite) + O,(g) —» CO:(g) AH = -393.5kJ
b)YHx(g) + 1/20:(g) —— H,0() AH o= -2858 kJ
(€)2CoHa(g) + 5 0a(g) ——> 4CO0g) +2H20(g) AH = -25985kT  (10%)
10. Specify and explain which of these systems can be classified as a buffer system:
(a) KCI/HCI ;(b) KNO»/HNO2;(c) KHSO4/H,SO4;(d) HCOOK/HCOOH;(e)Na; HPO4/NaH,PO,4
(10%)
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